

## Asymptotic behavior of solutions of forced nonlinear delay differential equations

By JURANG YAN (Shanxi)

### 1. Introduction

This paper is concerned with the asymptotic behavior of solutions of nonlinear forced delay differential equations of the form

$$(1) \quad x'(t) + \sum_{i=1}^n p_i(t)f(x(t - \tau_i)) = r(t), \quad t \geq t_0,$$

where  $p_i, r \in C([t_0, \infty), R)$ ,  $\tau_i \geq 0$ ,  $i = 1, 2, \dots, n$ ,  $f \in C(R, R)$ ,  $xf(x) > 0$  for  $x \neq 0$ . The nonoscillatory and oscillatory properties of (1) and the related equations have been studied by many authors; we mention here the work of GYÓRI, LADAS and PAKULA [3]. KULENOVIC, LADAS and MEIMARIDOU [4], [5] and the references cited therein.

As is customary, a solution is called oscillatory if it has arbitrarily large zeros; otherwise, it is called nonoscillatory.

Recently, KULENOVIC, LADAS and MEIMARIDOU [4] have obtained interesting sufficient conditions for the asymptotic stability of the trivial solution of the delay differential equation

$$(1') \quad x'(t) + \sum_{i=1}^n p_i(t)x(t - \tau_i) = 0, \quad t \geq t_0.$$

Their approach is based on dividing the set of solutions of (1') into oscillatory and nonoscillatory solutions and then examining the asymptotic properties of each class. Our aim in this paper is to obtain sufficient conditions for the asymptotic behavior of all solutions of (1). Here the approach in [4] will be used. The results obtained extend and improve some of the results of [4].

In the sequel, for convenience, we will assume that inequalities concerning values of functions are satisfied eventually, that is for all large  $t$ .

## 2. Main Results

Without loss of generality, we will assume throughout this paper that  $0 \leq \tau_1 < \tau_2 < \cdots < \tau_n$ .

We introduce the following conditions:

$$(2) \quad |f(x)| \leq M|x| \quad \text{for all } x.$$

where  $M$  is a positive constant, and

$$(3) \quad R(t) = \int_t^\infty r(s)ds \quad \text{exists on } [t_0, \infty).$$

**Theorem 1.** *Assume that (2) and (3) hold and that there exist positive constants  $C_1$  and  $C_2$  such that the following conditions are satisfied for sufficiently large  $t$*

$$(4) \quad |p_i(t)| \leq C_1 \quad \text{for } i = 1, 2, \dots, n,$$

$$(5) \quad \sum_{i=1}^n p_i(t - \tau_n + \tau_i) \geq C_2,$$

and

$$(6) \quad \sum_{i=1}^{n-1} \int_{t-\tau_n}^{t-\tau_i} p_i(s + \tau_i)ds \leq \frac{1}{M},$$

where  $p_i(t)_- = \min\{p_i(t), 0\}$ . Then every nonoscillatory solution of (1) tends to zero as  $t \rightarrow \infty$ .

**Theorem 2.** *Assume that (2) and (3) hold and that for sufficiently large  $t$*

$$(7) \quad \sum_{i=1}^n p_i(t - \tau_n + \tau_i) \neq 0,$$

$$(8) \quad 2 \limsup_{t \rightarrow \infty} Q_1(t) + \limsup_{t \rightarrow \infty} Q_2(t) < \frac{1}{M},$$

where

$$Q_1(t) = \sum_{i=1}^n \int_{t-\tau_n}^{t-\tau_i} |p_i(s + \tau_i)|ds,$$

and

$$Q_2(t) = \sum_{i=1}^n \int_{t-\tau_n}^t |p_i(s - \tau_n + \tau_i)| ds.$$

Then every oscillatory solution of (1) tends to zero as  $t \rightarrow \infty$ .

Combining Theorems 1 and Theorem 2, we obtain the following

**Theorem 3.** *Assume that (2)–(5) and (8) are satisfied. Then all solutions of (1) tend to zero as  $t \rightarrow \infty$ .*

*Remark 1.* From (2) and (3) we see that our results hold for linear and for nonlinear equations, forced equations and associated unforced equations.

*Remark 2.* Our results can be extended to more general equations of the form

$$x'(t) + \sum_{i=1}^n p_i(t) f_i(x(t - \tau_i)) = r(t),$$

which involve different functions  $f_i$  each of which satisfies the corresponding conditions. When  $r(t) \equiv 0$  and  $p_i(t)$  are constants, (1) reduces to

$$(9) \quad x'(t) + \sum_{i=1}^n p_i f(x(t - \tau_i)) = 0.$$

The following corollaries are immediate consequences of Theorems 1,2 and 3.

**Corollary 1.** *Assume that (2) holds and that*

$$(10) \quad \sum_{i=1}^n p_i > 0,$$

and

$$(11) \quad \sum_{i=1}^{n-1} (\tau_n - \tau_i) p_{i-} \leq \frac{1}{M}.$$

where  $p_{i-} = \min\{p_i, 0\}$ . Then every nonoscillatory solution of (9) tends to zero as  $t \rightarrow \infty$ .

**Corollary 2.** Assume that (2) holds and that

$$(12) \quad \sum_{i=1}^n p_i \neq 0,$$

$$(13) \quad \sum_{i=1}^n (3\tau_n - 2\tau_i)|p_i| < \frac{1}{M}.$$

Then every oscillatory solution of (9) tends to zero as  $t \rightarrow \infty$ .

**Corollary 3.** Assume that (2), (10) and (13) hold. Then all solutions of (9) tend to zero as  $t \rightarrow \infty$ .

For illustration we consider the following

*Example.* Consider the nonlinear delay differential equation

$$(14) \quad x'(t) + \sum_{i=1}^n p_i \frac{x(t - \tau_i)}{1 + |x(t - \tau_i)|^\beta} = 0.$$

where  $p_i, \tau_i, i = 1, 2, \dots, n$ , are constants and  $\beta$  is a positive constant. The delay equation (14) with  $n = 1$  has appeared in connection with physiological control theory; see CHAPIN and NUSSBAUM [1] and KULENOVIC, LADAS and MEIMARIDOU [4].

By Corollaries 1,2 and 3, we have the following conclusions:

- (i) Assume that  $\sum_{i=1}^n p_i > 0$  and  $\sum_{i=1}^{n-1} (\tau_n - \tau_i)p_i \leq 1$ , then every nonoscillatory solution of (14) tends to zero as  $t \rightarrow \infty$ ;
- (ii) Assume that  $\sum_{i=1}^n p_i \neq 0$  and  $\sum_{i=1}^n (3\tau_n - 2\tau_i)|p_i| < 1$ , then every oscillatory solution of (14) tends to zero as  $t \rightarrow \infty$ ;
- (iii) Assume that  $\sum_{i=1}^n p_i > 0$  and  $\sum_{i=1}^n (3\tau_n - 2\tau_i)|p_i| < 1$ , then all solutions of (14) tend to zero  $t \rightarrow \infty$ .

*Remark 3.* By Lemma 1 in [1] and Theorem 6 in [5] all solutions of (14) are oscillatory if and only if the equation

$$\lambda + \sum_{i=1}^n p_i e^{\lambda\tau_i} = 0,$$

has no real roots.

### 3. Proofs of the Theorems

PROOF of Theorem 1. Let  $x(t)$  be a solution of (1). Set

$$(15) \quad z(t) = x(t) + \sum_{i=1}^{n-1} \int_{t-\tau_n}^{t-\tau_i} p_i(s + \tau_i) f(x(s)) ds + R(t),$$

with the convention that when  $n = 1$  the above sum is zero. Since the negative of a solution of (1) is also a solution, we will suppose that  $x(t) > 0$ . From (1) and (15), we have

$$(16) \quad z'(t) = - \sum_{i=1}^{n-1} p_i(t - \tau_n + \tau_i) f(x(t - \tau_n)).$$

From (16) and (5) it follows that

$$(17) \quad z'(t) \leq -C_2 f(x(t - \tau_n)).$$

which implies that  $z(t)$  is a strictly decreasing function. Set  $L = \lim_{t \rightarrow \infty} z(t)$ . We claim that  $L \in R$ . Otherwise  $L = -\infty$  and because of (6),  $x(t)$  must be unbounded. In fact, suppose that there exists a constant  $C$  such that  $x(t) \leq C$ . Then, from (15), (6) and (2), we have

$$\begin{aligned} z(t) &\geq x(t) - \sum_{i=1}^{n-1} \int_{t-\tau_n}^{t-\tau_i} p_i(s + \tau_i)_- f(x(s)) ds + R(t) \\ &\geq x(t) - CM \sum_{i=1}^{n-1} \int_{t-\tau_n}^{t-\tau_i} p_i(s + \tau_i)_- ds + R(t) \\ &\geq x(t) - CM \sum_{i=1}^{n-1} \int_{t-\tau_n}^{t-\tau_i} p_i(s + \tau_i)_- ds + R(t) \geq -C^*, \end{aligned}$$

where  $C^*$  is a constant, which contradicts that  $L = -\infty$ . Thus  $x(t)$  is unbounded. Choose a  $t_1 \geq t_0 + \tau_n$  in such a way that (6) is satisfied for  $t \geq t_1$ ,  $z(t_1) - R(t_1) < 0$  and  $x(t_1) = \max_{t_0 \leq s \leq t_1} x(s)$ . Clearly, this choice of  $t_1$ , is possible because  $x(t)$  is unbounded and  $\lim_{t \rightarrow \infty} \langle z(t) - R(t) \rangle = -\infty$ .

Then, from (15), (6) and (2), we have

$$\begin{aligned} 0 > z(t_1) - R(t_1) &= x(t_1) + \sum_{i=1}^{n-1} \int_{t_1-\tau_n}^{t_1-\tau_i} p_i(s + \tau_i) f(x(s)) ds \\ &\geq x(t_1) - \sum_{i=1}^{n-1} \int_{t_1-\tau_n}^{t_1-\tau_i} p_i(s + \tau_i) - Mx(s) ds \\ &\geq x(t_1) \langle 1 - M \sum_{i=1}^{n-1} \int_{t_1-\tau_n}^{t_1-\tau_i} p_i(s + \tau_i) - ds \rangle \geq 0, \end{aligned}$$

which is a contradiction. Thus  $L \in R$ .

We are now in a position to prove that

$$(18) \quad \lim_{t \rightarrow \infty} x(t) = 0.$$

In fact, integrating (17) from  $t_1$  to  $t$  for  $t_1$  sufficiently large and letting  $t \rightarrow \infty$ , we find

$$L - z(t_1) \leq -C_2 \int_{t_1}^{\infty} f(x(s - \tau_n)) ds.$$

Hence  $f(x(t)) \in L^1[t_1, \infty)$  and  $\liminf_{t \rightarrow \infty} f(x(t)) = 0$ . Since  $x(t)$  is bounded, it follows that

$$(19) \quad \liminf_{t \rightarrow \infty} x(t) = 0.$$

Integrating (1) from  $t_1$  to  $t$  and letting  $t \rightarrow \infty$ , we obtain

$$(20) \quad \lim_{t \rightarrow \infty} (x(t) - x(t_1)) = - \sum_{i=1}^n \int_{t_1}^{\infty} p_i(s) f(x(s - \tau_i)) ds + R(t_1) < \infty,$$

where we have used (3) and (4). Combining (20) with (19) we obtain (18) as claimed. The proof is complete.

**PROOF of Theorem 2.** Let  $x(t)$  be an oscillatory solution of (1). First we will prove that  $x(t)$  is bounded. Suppose that  $x(t)$  is unbounded. Choose a  $t_1 \geq t_0 + \tau_n$  such that (7) holds for  $t \geq t_1$  and also

$$\max_{t_1 \leq s \leq t} |x(s)| \geq \max_{t-\tau_n \leq s \leq t-\tau_1} |x(s)|, \quad \text{for } t \geq t_1.$$

Clearly, this choice of  $t_1$  is possible because  $x(t)$  is unbounded. Then, from (15), we have

$$\begin{aligned} |z(t)| &\geq |x(t)| - \sum_{i=1}^{n-1} \int_{t-\tau_n}^{t-\tau_i} |p_i(s + \tau_i)| |f(x(s))| ds - |R(t)| \\ &\geq |x(t)| - M \left( \max_{t_1 \leq s \leq t} |x(s)| \right) Q_1(t) - |R(t)|, \end{aligned}$$

which implies that

$$\begin{aligned} \max_{t_1 \leq s \leq t} |z(s)| &\geq \max_{t_1 \leq s \leq t} |x(s)| - M \left( \max_{t_1 \leq s \leq t} |x(s)| \right) \max_{t_1 \leq s \leq t} Q_1(s) \\ &\quad - \max_{t_1 \leq s \leq t} |R(s)| \\ (21) \quad &\geq \max_{t_1 \leq s \leq t} |x(s)| \langle 1 - M \max_{t_1 \leq s \leq t} Q_1(s) \rangle - \max_{t_1 \leq s \leq t} |R(t)|. \end{aligned}$$

By (21), (8) and the fact that  $\lim_{t \rightarrow \infty} R(t) = 0$ , we find that  $z(t)$  is unbounded. Also, from (16), we see that  $z'(t)$  oscillates. Thus, there exists a sequence of points  $\{\xi_k\}$  such that  $\xi_k \geq t_1$  for  $k = 1, 2, \dots$ ,  $\lim_{k \rightarrow \infty} \xi_k = \infty$ ,  $\lim_{k \rightarrow \infty} |z(\xi_k)| = \infty$ ,  $z'(\xi_k) = 0$  for  $k = 1, 2, \dots$ , and

$$|z(\xi_k)| = \max_{t_1 \leq s \leq \xi_k} |z(s)|.$$

Form (16), using (7) and the fact that  $z'(\xi_k) = 0$ , we see that  $x(\xi_k - \tau_n) = 0$  for  $k = 1, 2, \dots$ , and so (15) yields

$$(22) \quad z(\xi_k - \tau_n) = \sum_{i=1}^{n-1} \int_{\xi_k - 2\tau_n}^{\xi_k - \tau_n - \tau_i} p_i(s + \tau_i) f(x(s)) ds + R(\xi_k - \tau_n).$$

Integrating (16) from  $\xi_k - \tau_n$  to  $\xi_k$  and using (22) we obtain

$$\begin{aligned} z(\xi_k) &= \sum_{i=1}^{n-1} \int_{\xi_k - 2\tau_n}^{\xi_k - \tau_n - \tau_i} p_i(s + \tau_i) f(x(s)) ds \\ (23) \quad &\quad - \int_{\xi_k - \tau_n}^{\xi_k} \left\langle \sum_{n=1}^n p_i(s - \tau_n + \tau_i) \right\rangle f(x(s - \tau_n)) ds + R(\xi_k - \tau_n). \end{aligned}$$

Thus we get

$$\begin{aligned} |x(\xi_k)| &\leq \max_{t_1 \leq s \leq \xi_k} |x(s)| M Q_1(\xi_k - \tau_n) + \max_{t_1 \leq s \leq \xi_k} |x(s)| M Q_2(\xi_k) \\ (24) \quad &\quad + |R(\xi_k - \tau_n)|, \end{aligned}$$

and, in view of (21)

$$\begin{aligned} & \langle 1 - M \max_{t_1 \leq s \leq \xi_k} Q_1(s) \rangle \max_{t_1 \leq s \leq \xi_k} |x(s)| \\ & \leq M \langle Q_1(\xi_k - \tau_n) + Q_2(\xi_k) \rangle \max_{t_1 \leq s \leq \xi_k} |x(s)| + |R(\xi_k - \tau_n)| + \max_{t_1 \leq s \leq \xi_k} |R(s)|, \end{aligned}$$

that is,

$$\begin{aligned} 0 \leq & -1 + M \langle \max_{t_1 \leq s \leq \xi_k} Q_1(s) + Q_1(\xi_k - \tau_n) + Q_2(\xi_k) \rangle \\ & + \left( \max_{t_1 \leq s \leq \xi_k} |x(s)| \right)^{-1} (|R(\xi_k - \tau_n)| + \max_{t_1 \leq s \leq \xi_k} |R(s)|). \end{aligned}$$

Let  $k \rightarrow \infty$ , then we find

$$0 \leq -1 + M(2\bar{Q}_1 + \bar{Q}_2),$$

where  $\bar{Q}_1 = \limsup_{t \rightarrow \infty} Q_1(t)$  and  $\bar{Q}_2 = \limsup_{t \rightarrow \infty} Q_2(t)$ , which contradicts (8) and proves our claim.

Next, we prove that every bounded oscillatory solution  $x(t)$  of (1) tends to zero as  $t \rightarrow \infty$ . Indeed, assume that

$$\mu = \limsup_{t \rightarrow \infty} |x(t)| > 0.$$

Then for any  $\varepsilon > 0$  there exists a  $t_2 \geq t_1$  such that

$$|x(t)| < \mu + \varepsilon \quad \text{for } t \geq t_2.$$

Form (15) we have

$$\begin{aligned} |z(t)| & > |x(t)| - \sum_{i=1}^{n-1} \int_{t-\tau_n}^{t-\tau_i} |p_i(s + \tau_i)| |f(x(s))| ds - |R(t)| \\ & \geq |x(t)| - (\mu + \varepsilon)MQ_1(t) - R(t), \quad t \geq t_2. \end{aligned}$$

Thus

$$\alpha = \limsup_{t \rightarrow \infty} |z(t)| \geq \mu - (\mu + \varepsilon)M\bar{Q}_1.$$

As  $\varepsilon$  is arbitrary, it follows that

$$(25) \quad \alpha \geq \mu(1 - M\bar{Q}_1).$$

Since  $z'(t)$  oscillates, there exists a sequence of points  $\{\zeta_k\}$  such that  $\zeta_k \geq t_2$  for  $k = 1, 2, \dots$ ,  $\lim_{k \rightarrow \infty} \zeta_k = \infty$ ,  $z'(\zeta_k) = 0$  for  $k = 1, 2, \dots$ , and

$$\lim_{t \rightarrow \infty} |z(\zeta_k)| = \alpha.$$



Also, (22) and so (23) is true with  $\xi_k$  repalced by  $\zeta_k$ . Hence, from (24),

$$|z(\zeta_k)| \leq M(\mu + \varepsilon)(Q_1(\zeta_k - \tau_n) + Q_2(\zeta_k)) + |R(\zeta_k - \tau_n)|.$$

Letting  $k \rightarrow \infty$ , we obtain

$$\alpha \leq M(\mu + \varepsilon)(\bar{Q}_1 + \bar{Q}_2).$$

As  $\varepsilon$  is arbitrary, it follows that

$$\alpha \leq M\mu(\bar{Q}_1 + \bar{Q}_2).$$

By (25), we have

$$\mu(1 - M\bar{Q}_1) \leq M\mu(\bar{Q}_1 + \bar{Q}_2),$$

or

$$1 \leq 2(\bar{Q}_1 + \bar{Q}_2)M,$$

which contradicts the hypothesis (8) and the proof is complete.

*Acknowledgement.* The author thanks the referee for his (her) suggestions and comments.

### References

- [1] O. ARINO, I. GYÖRI and A. JAWHARI, Oscillation criteria in delay equations, *J. Differential Equations* **53** (1984), 115–123.
- [2] S. A. CHAPIN and R.D. NUSSBAUM, Asymptotic estimates for the periods of periodic solutions of differential — delay equations, *Mich. Math.* **31** (1984), 215–229.
- [3] I. GYÖRI, G. LADAS and L. PAKULA, Oscillation theorems for delay differential equations via Laplace transforms, *Canadian Math. Bull.* **33** (1990), 323–326.
- [4] M. R. S. KULENOVIC, G. LADAS and A. MEIMARIDOU, Stability of solutions of linear delay differential equations, *Proc. Amer. Math. Soc.* **100** (1987), 433–441.
- [5] M. R. S. KULENOVIC, G. LADAS and A. MEIMARIDOU, On oscillation of nonlinear delay differential equations, *Quart. Appl. Math.* **45** (1987), 155–164.

JURANG YAN  
DEPARTMENT OF MATHEMATICS  
SHANXI UNIVERSITY  
TAIYUAN, SHANXI 030006  
PEOPLE'S REPUBLIC OF CHINA

*(Received August 2, 1993; revised May 9, 1994)*